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Using the method of substitution of variables (see in year 1 FLAP), check that the following results of integration are correct.

Integral








Substitution
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What would be values of this integrals for a=-1, b=1? 
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Using method of substitutions, 

show that 
________________________________________________________

2. Use the method of integrating multiplier to find the first integral of the 2nd order differential equations describing motion of a satellite falling onto the surface of the Earth.  [Here, g is gravity, and R is the radius of the Earth.]
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